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We tried to find all the typos, bad numbers, wrong solutions, and so forth, but with so many details, we missed a few. As we (or you) find errors, we'll list them on this page by chapter. Note that if there is an error in a solution file for some problem, we will try to indicate a way to fix the error without "giving away" the solution to students who might be reading this page. The date of the correction is shown in parentheses.
[bookmark: Ch1]Chapter 1
1. (10/6/2005) In the first line of the last paragraph on page 9, optimization is spelled wrong.
[bookmark: Ch2]Chapter 2 
1. (1/5/2006) The second two lines of the solution on page 45 refer to column C. They should refer to column D.
[bookmark: Ch3]Chapter 3
1. (8/9/2005) The first two formulas on page 87 are missing their denominators. The denominator in equation (3.2) should be n; in equation (3.3) it should be n-1.
1. (9/5/2006) The screenshot in Figure 3.8 on page 92 is wrong. It should be the following:  Figure 3.8
1. (10/3/2006) As one very observant user pointed out, the generic box plot given by StatTools to illustrate the plot's elements (see Figure 3.14 on page 101) is not scaled properly. The length of the box is, by definition, 1 IQR, and the outliers should be more than 1.5 IQR's from the box. I've asked Palisade to rescale this generic picture in its next version of StatTools.
1. (2/14/2007) As one user pointed out, the macros in Case 3.1 (for downloading stock price data from the web) are no longer working. They worked fine just a couple weeks ago when I showed them to my MBA students, but then Yahoo changed the format of its web site that the application is querying, and it broke the application. The fix will take bit of time to work out, so please stay tuned. When I have a fix, I’ll post it here. Happy Valentines Day, Yahoo!
1. (8/28/2007) The title of Example 3.5, page 91, is wrong. It should be “Summarizing Starting Salaries for Business Undergraduates”. The screenshot in Figure 3.8, page 92, should have only one variable listed at the top: Salary.
1. (9/18/2007) To permit copying down, the second formula on page 91 should be =B8+$B$5.
1. (2/20/2008) On page 97, fourth line after Solution, it should read Summary Statistics, not Summary Measures.
[bookmark: Ch4]Chapter 4 
1. (9/6/2005) On page 151, third line after Solution heading, the range names should be Database and Criteria, not Data and Criteria, to match up with the formulas in Figure 4.16.
1. (6/12/2006) On the solution to problem 35, we fell into the same trap we warned you about: we took the averages of all the rows, including the hidden rows, so our averages aren't correct. The fix should be straightforward.
1. (9/12/2006) In the second line on page 148, change $70,000 to $60,000 to go along with the conditions in Figure 4.14.
1. (7/25/2007) On page 147, the third line above Figure 4.11 should have “salary at least $100,000”.
1. (8/30/2007) The last line of problem 41 on page 190 should have “unusable”, not “usable”. Also, the last line should refer to the file P04_41.xls, which wasn’t included on the CD-ROM with the book. Here it is: P04_41.xls.
1. (11/28/2007) The solutions to parts a and b of problem 3, page 145, don’t filter on homeowner. They should.
1. (11/28/2007) In the solution to part c of problem 6, page 151, the percent quoted is correct, but ignore the part in parentheses next to it. I don’t know where that came from.
[bookmark: Ch5]Chapter 5
1. (9/12/2005) The answers (variance and standard deviation) to problems 183 and 184 in the Test Bank on the Instructors CD are incorrect. It's straightforward to fix them.
[bookmark: Ch6]Chapter 6 
1. (1/5/2006) In Figure 6.21 on page 275, the text box indicates that PAtLeast100 is the range name for cell B8. It is the range name for cell B7. 
1. (3/1/2006) On page 271, third line above section 6.4.2, it's more accurate to say "from 36 to 64" since 2 standard deviations is about 14, not 15. 
1. (4/4/2006) In Example 6.10 on pages 275-276, the statement of the problem uses a no-show rate of 5%, but the file and screenshot use 10%. The easiest fix is to restate the problem in the first paragraph, using a no-show rate of 10%.
1. (10/2/2006) The formula in step 3 on page 280 starts =IF(AND(B18<0,D1850)... It should read =IF(AND(B18<0,D18=0)... It's correct in the Basketball.xls file.
1. (8/28/2007) On problem 15, page 267, the fourth from last line should end: or between $1.802 and $2.097? (Instructors: The solution file should be changed accordingly. Also, the solution file uses the wrong mean, which should be $1.95. Of course, by now, we should actually be using a much higher mean!)
1. (11/28/2007) In part d of the solution to problem 17, page 268, the demands for substitute products would be negatively correlated, not positively.
1. (5/9/2008) Change the last formula on page 263 to =MAX(NORMINV(RAND(),B17,$B$9*B17/$B$8),$D$5). (The NORMINV part was missing, although it’s correct in the Excel file.)
[bookmark: Ch7]Chapter 7 
1. (9/22/2006) The (instructors') solution to problem 80 on page 369 uses a probability of 0.025 for a fire, whereas 0.04 is stated in the book. The former is probably more realistic (the likelihood of a fire is typically very small), and it makes for a closer contest between the two alternatives.
1. (11/28/2007) In Figure 7.6, page 318, the leftmost Bid arc should have -5K, not -0.5K, below it.
[bookmark: Ch8]Chapter 8 
1. (1/5/2006) In the formula in step 1 on page 402, the first reference should be $B$3, not $B$31.
1. (5/3/2007) On page 383, there are a couple of errors. First, the sixth line after Solutions refers to the Averages variable. The reference should be to the Amount variable. Second, the parenthetical statement starting in the next line should be deleted. I think we used 50 samples in the previous edition, but now we're requesting only 25. Beyond this, however, the whole procedure explained on this page can be streamlined. (I wrote it before I was aware of some features of StatTools.) Basically, the first two paragraphs after Solution, down to "will be different from ours.)", can be omitted. The VLOOKUP part just isn't necessary in StatTools.
1. (8/28/2007) On page 400, the second sentence under Table 8.1 should start: We illustrate this in cell E11 of Figure 8.7…
1. (8/28/2007) On problem 43, page 410, to make this match the solution, replace all occurrences of 500 with 100.
[bookmark: Ch9]Chapter 9 
1. (10/11/2005) On part a of problem 48 on page 478, the prediction error is -100.94, not -94.5. For instructors, the solution is also incorrect (it plugs into the wrong equation), but it's easy to fix. By the way, there's a reason for the error. To get the equation reported in this problem, I ran a regression on the data and reported the rounded coefficients, 746.5 and 3.32. The prediction error for the first row, using the rounded coefficients, is -100.94. But if you don't round them, it's -94.5.
1. (4/5/2006) The solution to problem 27 on page 461 is wrong because it doesn't give confidence intervals for the differences. Here is the corrected version. (It's in the Student Solutions Manual anyway, so I guess it's fair game to provide it publicly.) S09_27 Corrected.xls 
1. (10/25/2006) Funny no one noticed this till now, but the screen shot for Figure 9.6 on page 431 is left over from the second edition. It's not wrong, but it's based on StatPro output, not StatTools output -- hence, the slightly different format. Also, the fourth line of Example 9.2 on page 430 makes a reference to column B of Figure 9.5. It should be to column B of Figure 9.6.
1. (7/25/2007) There are a couple of problems/ambiguities with problem 48 on pages 477-478. First, the solution lists the regression equation wrong. It should be as in the book: 746.5+3.32MachHrs. Second, part a in the book lists the prediction error for the first week as -94.5. This is the case if you use the exact regression coefficients. If you use the rounded coefficients, 746.5 and 3.32, you get a slightly different value, -100.94. Since regression hasn’t been covered by this point, your students will undoubtedly get the latter value, -100.94.
[bookmark: Ch10]Chapter 10 
1. (11/1/2005) On the next to last blue formula at the bottom of page 519, the right term should be (1/B7+1/C7)). 
1. (11/4/2005) At the bottom of page 500, the alternative hypothesis should be "not equal to 5.2."
[bookmark: Ch11]Chapter 11 
1. (9/6/2005) On page 589, equation 11.1, the denominator is missing inside the square root sign. It should be n-k-1. 
1. (11/2/2005) The problem data file P11_05.xls on the CD-ROM is evidently corrupted. (If you try to use StatTools to create dummy variables from the Department variable, you'll get errors.) Here is an uncorrupted version of the same file: P11_05.xls.
[bookmark: Ch12]Chapter 12 
1. (10/25/2006) Evidently, StatTools has changed slightly from when I created the screenshot for Figure 12.31 on page 685. If you want to set up the data set for your predictions ahead of time, as indicated in the text box on that screenshot, you should use the labels LowerLimit95 and UpperLimit95. (The 95's were missing in the screenshot.) 
1. (7/25/2006) In footnote 6 on page 662, replace “text” with “test”.
[bookmark: Ch13]Chapter 13
1. (4/17/2006) In Example 13.7, page 763, we modified the data for this example slightly from the second edition, but we didn't recalculate the modified logs. So the logs shown in Figure 13.60, column G, and in the SoftDrinks.xls file, are slightly off. Here is the corrected file: SoftDrink Corrected.xls.
1. (4/17/2006) In the Excel formula about two-thirds of the way down on page 764, the first cell reference after EXP should be $B$18, not $B$1.
1. (12/04/2006) In equation 13.3, page 711, the whole right-hand-side should be under a square root sign.
1. (11/28/2007) The first word of the fourth line below the boxed equations on page 748 should, strictly speaking, be trend, not change.
[bookmark: Ch14]Chapter 14 
1. (12/14/2006) On page 786, the first constraint in the Constraints section should be B15:D15<=B16:D16.
1. (11/28/2007) 
[bookmark: Ch15][bookmark: Ch16]Chapter 15 
1. (10/1/2007) The screenshot in Figure 15.17 on page 859 refers to the Midwest Electric model; it should refer to the Grand Prix model.
1. (10/1/2007) Example 15.4 on page 862 says the common arc capacity is 200, but the screenshot in Figure 15.20 shows capacity 150. Change it to 200 in the RedBrand1 file and rerun Solver to get the results discussed in the book.
Chapter 16
1. (3/20/2006) This isn't really an error, but as one user suggested, the Ebony Bath Soap case on page 997 could contain a revenue component. (I've included this message here as a reminder to myself to include a question about revenue in the next edition!)
1. (10/7/2006) At the bottom of page 952, the @RISK function is spelled wrong. It should be RISKBINOMIAL, not RISKBINOM.
1. (1/21/2007) In part b of problem 40 on page 994, the two parameters should be 16 and 125, not 16 and 25. 
1. (11/28/2007) For problem 14 on page 965, it should be stated explicitly that the demands given in the P16_14 file are in thousands of sweatshirts. That’s how they’re treated in the solution.
[bookmark: Ch17]Chapter 17 
1. (11/7/2005) In step 6 on page 1021, the second sum in the formula should extend to row 39, i.e., D35:D39. This same change should be made in the CashBalance.xls file. The results change only a little.
1. (8/28/2007) The solution to problem 37 on page 1049 has an obvious (but easy to fix) error: you can’t produce more than capacity.
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